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Model test paper

Class-1V Subject:-English
Time: 2:30 Hrs. M.M: 50 Marks
General Instructions

The paper is divided into 4 sections

SECTION A- Reading Section ...............ccceeuvenn. 15 marks
SECTION B- Grammar Section. ........................ 08 marks
SECTION C-Writing Section .............c.oevvvinnn... 12 marks
SECTION D- Literature ..........c.ovveviiennenenennnnn. 15 marks

All questions are compulsory.
SECTION-A (READING COMPREHENSION-15 marks)

Q1. Read the passage and answer the following questions.

Aunt Polly heard about a new medicine. It was called a painkiller. It had the taste of fire. All the same,
Aunt Polly made Tom drink it. When his aunt was not looking, he quickly poured the medicine into a hole in
the floor. Tom was busy doing this one day, a cat came in and Tom poured some of the medicine into its
mouth. At once it jumped high into the air. It started dancing on its back legs. It rushed around the room,
breaking anything in its path. Tom laughed and laughed. Aunt Polly heard the noise and came rushing in.
"What's the matter?" said Aunt Polly.

(a) What was the taste of new medicine?
(b) Where did Tom pour the medicine?
(c) Who jumped high into the air?

(d) The cat started dancing on its ........ legs.(front legs/ back legs)
(e) Write the past tense of the following words.
(i) start (ii) laugh 5x1=5 Marks

Q2. Read the following passage and answer the questions given below.

Rosy went to the park outside her house.In the park, she saw a pretty butterfly. The butterfly was green
and yellow in colour. It was sitting on a white petal. Soon she saw that there were four more butterflies .One
other butterfly was black and white. When she went to touch this butterfly, it flew away. This made Rosy
jump a little. The butterfly went and sat under a tree. Rosy ran down to the tree, but by then it was gone .She
tried to follow it, but couldn't find it again. Rosy soon left for home. When she reached her house, she was
surprised to see the butterfly sitting by her window. This got a smile on her face.

Answer the following questions.

(i) What were the colours of the butterflies ?

(i)What happened when she went to touch the butterfly?

(iii) Where did the butterfly go and sit ?

(iv) Who left for home?

(V)Why was Rosy surprised? 5x1=5 Marks



Q3:- Fill in the blanks with the help of following visual clues.(Do any five)

v

(Happy/ Reading/ park/playing/jumping)

i) Thisisascene of a
i) The children are

iii) The girl is a book.

iv) One boy is happily.

V) Another boy is the cart.

vi) Everybody is looking . 5x1=5 Marks

Section-B (Grammar-08 marks)
Q4:- Identify the underlined words as articles, prepositions and Conjunctions.

Once a jackal strayed __into___ the city.He hid here __and___ there due _ to__fear.In the evening
he cautiuously left _ for_ the jungle.Unfortunately ,the dogs noticed him and chased him.__ The__ dogs
looked for him every where but__ couldn't find him. Next day, the jackal saw a coloured

animal. 6x1/2=3
Marks
Q5:- Fill the following blanks by using correct words given in the brackets.
My name is Rohit. I live in............ (Jammu /jungle).Priya is my sister........... (he/she) is in class Ilird .
She......... ('likes/plays) books.She ......(wants/likes) to be a teacher. She always obeys
her......... (parents/friends).She is very ......(stupid/ intelligent) girl. 6x1/2=3 Marks

Q6:- Fill in the blanks with the correct form of verbs.

My father is a teacher. He ......... (taught/ teaches) english and.......... ('likes/ liked) his .students very much.
Last month my uncle ........ (moved/ moves) to another city but his son.......(was not/is not)
happy. 4x1/2=2marks

SECTION -C (Writing skills-12marks)

Q7:- Write a paragraph in about 50-80 words on "My Pet" by using the given hints .
Hints: black & brown, loyal, time, play, family spends, members, love
OR
Write a paragraph in about 50-80 words on "My Best Friend" by using the following words.

Hints:  Kind, play games, best friend, helpful, like, intelligent



OR
Write a paragraph in about 50-80 words on "My School" by using the words given below
Hints: Fun, activities , teachers, learn, like, enjoy, library, like, play-ground, Building.

5 marks
Q8:- Write a letter to your grandmother thanking her for a birthday gift.
OR
Write an application to the Principal requesting him for two days sick leave.
4 marks
Q9:- Write a message to your uncle requesting him to bring a pet for you.
3 marks

SECTION-D (Literature-15 marks)

Q10:- Do any two
(i) Who did the mountain think to be the stronger? Why? (The Sage And The Mountain)
(if) How did COVID-19 impact your schooling? (Tom and His New Medicine)

(iii)Did the elephant agree to change its route ? (The elephant and the mice)
(iv)What was Alice's doing? (From Alice in
Wonderland). 2x2=4marks

Q11:- Do any three
(i) Do you think that we should always speak truth? Why? (The Boy Who Never Told a Lie).
(if) What did the naughty boy find out in Scotland? (The Naughty Boy).
(ili)What does the bee do all day? (Against Idleness and Mischief).
(iv)Write two rhyming words for each of the following.
@long ........ ...
(b)Fell ... ...
(v) What are the people doing in the poem? (Written in March). 3%x2=6 marks
Q12:- Do any one
(i) Should we thank God for the things that He has created for us? Why? (All Things Bright and
Beautiful)
(if) What is a wildlife sanctuary? Name the animals found in the wildlife sanctuary near Mansar
Lake. 5 marks



MODEL PAPER

Class: - IV Subject: - Mathematics
Time: 2 hour 30 mins. Total Marks: 50
General instructions:

1) Section A comprises of 8 questions carrying 1 mark each.

2) Section B comprises of 6 questions carrying 2 marks each.

3) Section C comprises of 5 questions carrying 3 marks each.

4) Section D comprises of 3 questions carrying 5 marks each.

Section A (Very-Very Short Type Question)
Q1:- How many seconds are there in one minute?

a) 60 b) 50 c) 65 d) 70
Q2:- How many days are there in the month of January?
a) 31 b) 30 c) 29 d) 28
Q3:- The sum of 8 hundred, 56 tens and 2 ones are
a) 66 b)138 c) 858 d) 8562

Q4. Rishita wants to buy this teddy for her sister. On counting the coins in her piggy bank, she finds that
she has 94 one-rupee coins and 80 fifty-paise coins only. How much more money will she need to buy it?

a) T11 b) % 51 c) T 87 d) ¥ 93

Q5. The jug shown here can be filled up to the halfway mark by pouring 5 full cups of water into it using
a measuring cup. How much water does the cup hold when it is full?

2 Litres
v O
Jog cup
a) 100 ml b) 125 ml c) 200 ml d) 250 ml

Q6. Naitik wants to make two bottles (capacity 1000 ml each) of Lemon Up drink for his friends. How
much water will he need?

a) about half a litre b) about 1 litre ¢) about 2 litres d) about 18 litres



Q7. Which one of these numbers would be in this pattern if it is continued?

-~

a) 60 b) 45 c) 65 d) 70

Q8. The length of the boundary of a triangle whose sides are 20 cm, 25 cm and 30 cm is:
a) 55cm b) 65cm ) 75cm d) 85cm

Section B (Very Short Type Question)

Q9. Draw the net of the following Solids:
a) Cube
b) Cuboid
Q10. Draw lines to match the side view with the top view of

— Apipe ¢ —

— Afunnel

Q11. (a) Raju runs a tea stall and he earns I 250 in a day, how much will he earn in 10 days?

(b) And in a month?

Q12. A hockey field is 91metres 40 cm long and 55 metres wide. How long is the boundary of the field?

Q13. The graph shows different grades scored by students in Class 4.

| Positions secured by the Students |

I Pasitions of the Studants I

a5

0

= & S B
]

a) How many students scored Position 2?
b) Which Position was least Position?

¢) How many student scored Position 1?
d) How many students are there in Class 4?




Q14. Write the following times using a.m. or p.m.
a) 6:30 in the morning.
b) 4:30 in the evening
c) 11:05 in the night.
d) 12:30 in the day.

Section C (Short Type Question)

Q15. Look at the Picture and answer the following questions:

]

a4 |?

a) Can you guess what that box-like thing was?
b) Which number was on the opposite side of 5?
c) In the picture, which number will be at the bottom?

Q16. Look at the rat elist and answer the following:

Kind of Junk Price of 1 Kg

1. Waste Paper ......

2. Newspaper .........

3.Iron e
Rs 170/-

5. Plastic ................. Rs 10/-

a) How much Rajesh will pay for 42 kg newspaper

b) Find the cost of 22 kg of plastic.
¢) How much money Radha will get after selling of 30 kg of waste paper.



Q17. Fill in the missing circles of the triangle from the set of given numbers. The numbers on each side
of the triangle must add up to get the number in the centre.

(@)9,8,7,13 (b)6,4,7,10 (16,12,3,7

Q18. Look at these growing patterns. Find out what to add to each number to get the next one:

(21,3610, _, _,__
(b) 01 21 6a 12, [ R R

Q19. Write the following times in 24 hour clock.
a) 1 o’clock in the morning.
b) 3:30 in the afternoon.
c) 6:15 in the evening.

Section D (Long Answer Type Question)

QZ20. Riyanshi’s family used 30 litre of water for cooking and drinking and 35 litre for washing clothes in
one day. How much water they will use for 5 such days?

Q21. Take a 20 centimetre long thread. Make different shapes by joining the ends. Place the squared
sheet on the next page. Find out:

(a) How many squares are there in each shape?

(b) Which is the biggest shape?

(c) Which is the smallest shape?

(d) How long is the boundary of each shape?
Q22. The following pie chart shows the favourite food items of children in a school. Answer the questions

that follow:
(a) What is the most popular food Item?
(b) What is the least popular food Item?
(c) What is more Popular Pizza or Burger?
(d) What is less Popular French fries or Noodles?
(e) What is second least popular food item?

All the Best




Model test paper-1

Class-1V Subject - EVS
Time: 2:30 Hrs. M.M: 50
General Instructions
The paper is divided into 4 sections

1) Section A comprises of 8 questions carrying 1 mark each.

2) Section B comprises of 6 questions carrying 2 marks each.

3) Section C comprises of 5 questions carrying 3 marks each.

4) Section D comprises of 3 questions carrying 5 marks each.

Section A (Very Very short answer type questions)

Q1:-Arnav made the following observations about a plant and a worm. Which of the following are
correct

a. A plant cannot reproduce, a worm can

b. Aplant doesn’t need food while a worm makes its own.

c. A worm can go anywhere but the plant cannot

d. Both do not respond to stimuli
Q2:- What is required for germination of trees

a. Air
b. Water
c. Sun light
d. All
Q3:-From where do the leaves of plants get water
a. Sun
b. Air
c. Land
d. Soil
Q4:- Mosquitoes breed in .............. water.

Q5:- Winter capital of Jammu and Kashmir is......
Q6:- Abu Dhabi is the capital of.......
Q7:- We can easily count the carriages of another train crossing ours. (T/F)

Q8:- Buildings in Abu Dhabi are air conditioned (T/F)

Section B (Very short answer type questions)

Q1:- What is a globe?
Q2:- Identify the picture




Q3:- What would happen if we do not wash our hands before eating?
Q4:- Where do we get most of our food from?

Q5:-Who all helped chuskit to reach the school?

Q6:- List the differences between living and non living things.

Section C (Short answer type questions)
Q1:- Why are bridges made?
Q2:- What is the difference between day and night?
Q3:- Name different rivers of Jammu and Kashmir.

Q4:- From the given pictures of fruits and vegetables which of these will spoil earlier and which will
stay for some days:

Q5:- What do you think many trees cannot grow in desert areas?

Section D (Long answer type questions)
Q1:- Classify the things given below into living and non-living things:
Sparrow. Plants.  Tomato. Rocks. River. Atr.
Factory.  Frog. Sun

Q2:- What is potable water? Which method can be used at home to kill harmful germs in contaminated
water.

Q3:- Why does the vegetable seller have to sell the previous day’s left over vegetables first?
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Model Paper
TR 57
(Kashmiri) /6/

Total No. of Questions:11 Class: 4th No. of Printed Pages:4
Max.Marks:50 Time: 02:30 Hours
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Model Paper—2023-24
Class-V

Subject: English
Max. Marks: 50

Section (A) Reading Comprehension 15 Marks

Q.1: Read the following passage and answer the questions given in the
end. (5x1=05)

One day a wise man was riding along a road. He came across a man who
was fast asleep. As he passed by, he saw a snake sliding into the sleeping man’s
mouth. The wise man dismounted quickly. He tried to scare the snake away, but
to no avail. He took up his club and struck the sleeping man with several
powerful blows. The sleeping man awakened abruptly. He fled for safety to a
nearby tree. It was an apple tree. The ground around was covered with rotten
fruit. ‘Eat them!’ ordered the wise man. He stuffed the mouth of the terrified
man with apples until no more would go in.

‘Why are you doing this to me?’ asked the man. ‘What have I done to offend
you? If you have a quarrel with me, settle it with your word! Oh, cursed was the
hour that you first saw me, and blessed is the man who never sets eyes on you!
Look! My mouth is pouring with blood and words! O God, I beg Thee, repay him
in like manner!’ Yet however much the man cursed, the wise man continued to
shower blows. The wise man ordered the other man to run fast. The man ran
with all his might until he vomited. The snake came out of his mouth. The man
thanked the wise man for this treatment. This is how the wise man saved the life
of the sleeping man.

Questions:

1. 'One day a wise man was riding along a road.” What do you think, the
wise man was on a...

a. Car b. Boat
c. Bus d. Horse

2. '...Look! My mouth is pouring with blood and words! O God, I beg
Thee, repay him in like manner!” what does this statement show of the
speaker?

a. Indifference b. Shyness
c. Frustration d. Happiness
3. Why the wise man gave blows to the sleeping man with his club?

a. The sleeping man had offended the wise man.



b. The sleeping man was the wise man’s enemy.
c. The sleeping man had got in debt to the wise man.
d. The sleeping man had swallowed a snake which the wise man saw.

4. How would you view the riding man as a human being? (Give your
answer in one to two sentences)

5. is the opposite of ‘blessed’.

Q.2: Read the following passage and answer the questions given in the
end. (5x1=05)

Once, the Maharaja of Travancore ordered a grand dinner in his palace. In the
afternoon before the dinner, the Maharaja entered the kitchen to survey the
dishes that had been prepared for the feast. "What are you going to do with
those vegetable scraps?” he asked the cook, pointing to the basket of scraps
near the cook. The cook replied, “They are waste. We will throw them away.”
“You cannot waste all these bits and pieces of vegetables. Find a way to use
them,” the Maharaja commanded sternly and walked away. The cook was in a fix
and kept staring at the vegetable scraps for some time. Suddenly, an idea
flashed across his mind. He cooked these vegetable scraps after preparing them
well. All the guests liked this recipe so mush and everyone wanted to know its
name. The cook thought and thought. Then a name came to his mind. He named
it avial (uh-vi-ul). Avial became famous all over Kerala and is nhow one of the
dishes in a traditional Kerala feast. And imagine, it all came from a basket of
waste!

Questions

1. The cook in a fix, because:
a. the king had order a grand dinner.
b. the king entered the kitchen in the afternoon.
c. there was a basket a vegetable scraps in the kitchen.
d. the cook had no idea how to prevent the wastage go vegetable scraps.
2. What did the cook do with vegetable scraps?
a. He threw them away.
b. He made a recipe of them.
c. He hid them in the kitchen.
d. He kept them aside without caring.
3. Give a suitable title to the passage?
4. Find the opposite word of ‘host’ from the given passage.
5. A person who prepares meals and dishes is called

(OR)
A person who reigns a vast a country or state is called




Q.3: Read the following picture and answer the questions given in the
end. (5x1=05)

Picture 1 Picture 2 Picture 3
Questions:
1. The woman athlete in picture 1 is throwing:
a. Shot-put b. Javelin
c. Discuss d. Hammer

2. The picture 2 is a display of:
a. Rugby b. Hall Ball

c. Throw Ball d. Fencing
3. Can you name the game in picture 3?
a. Cricket b. Softball
c. Hockey d. Baseball
4. Find the proper sequence of pictures from picture 1 to picture 3.
a. Javelin throw, baseball, Rugby
b. baseball, Javelin throw, Rugby
c. Javelin throw, Rugby, baseball
d. baseball, Rugby, Javelin Throw

5. How is Javelin Throw different from the other two sports shown in
pictures? (Answer in one or two sentences)



Section (B) Grammar 8 Marks

Q.4. Read the given short passage and identify five words as
prepositions and/or conjunctions and write at least two them in each
column of the table below. 22 marks

Once upon a time, there lived a young boy in a village. He was not good
at studies but was a very talented singer. One day there was a talent hunt
programme in his school, where he was selected for a national level show. Soon
he got recognition of his talent and he became a famous singer.

Preposition Conjunction

Q.5. Read the given passage and fill the blanks provided by applying

nouns, verbs and adjectives whatever suitable. 2/2marks
My mother always awake before anyone else in the family. I
usually wake up after 6 . I loll around for a few minutes.
Then I and lazily get dressed for school. At bedtime, I read
a book. When I feel tired I lie down and go to sleep very
quickly. fall asleep in no time at all.

Q.6. Read the given passage and edit it for the proper use of grammar
and spellings. 3 Marks

Among the 23 perceived tipes of crocodilians, the saltwater and Nile crocodiles
are the most destructive animals. Being the biggest reptile on the plant, these
kill several individuals every year. The crocodile lives all through the tropics of
Africa, Asia and Australia in moderate moving streams and lakes. Its eyes, ears,
and nostrils is found high on the head, which enables an crocodile to sea and
hear its prey. Running from 5 to 20 feet lang, they kill up to 800 individuals
every year.



Section (C) Writing Skills 12 Marks

Q.7. Study the given mind-map carefully and write a paragraph of about

50 -100 words. 5 Marks
House Compound Siblings
Parents
Love \
Home
Address

Grand parents

Uncles Cousins

(OR)

Look at the given picture carefully and write a paragraph of about 50 -
100 words.

(OR)

Your school observed ‘World Mothers’ Day’ in which all the students were
asked to write a brief paragraph about his/her mother and how he/she would
like to observe this day for his/her mother. Now you being one of the
participants on this day, draft your write up for your mother on the ‘World
Mothers’ Day’.



8. Read the below given letter carefully. 4 Marks

ABC Chowk
Jammu
Dated: 15/02/2024

Dear Kashif Hussain

Hope you will be fine. I am writing this letter to inform you that my brother’s
marriage is going to be held on 10™ March, 2023 at our home. My parents
allowed me to invite my best friend on the marriage ceremony. As you are my
only friend, so I decided to invite you. Please accept my invitation of my
brother’s wedding ceremony and attend the grand function on the said date.

Waiting for your presence on the occasion.

Your best friend
Anil Kumar

Now, as Kashif Hussain from Zero Bridge Srinagar, write the reply to the
above letter as acceptance/refusal to the invitation.

(OR)

Read the below given e-mail carefully.

From: abcde.123@gmail.com
To: xyz000.1@gmail.com

Dear Sahil

This is to tell you that I'm not coming to school tomorrow as I'm not feeling
well.

Plz tell our class teacher about it and request him to mark me as sick on the
attendance register.

Ahmad

You are Ahmad and you have received the above mail in your mail box.
Now write a reply to the given mail.

9. Look at the series of pictures given below and design a story in your
own words. (50-60 words) 3 marks


mailto:abcde.123@gmail.com
mailto:xyz000.1@gmail.com

(OR)

Using the given hints write a brief biographical note of yourself.
Hints:

1. Name
Age

Class
Likings
Favourites
Priorities
Hobbies

NouhwN

Section (D) Literature 15 marks

10. Answer any two of the following questions, from the prose lessons
of the prescribed textbook, briefly. 2 X 2=4 Marks

a. What according to you is the theme of the story—'The Fowler and the
Quails’?

b. What kind of a man was Surya Singh in your opinion?
c. Give a brief biographical sketch of Louis Braille.

d. What lesson do you learn from the story—The prodigal Son?



11. Answer any three of the following questions, from the poems of the
prescribed textbook, briefly. 3 X 2= 6 Marks

a. What is rhyme scheme? Can you find any rhyme scheme in the poem—
‘The Shadow? If yes, write it down.

b. The poet uses different words to describe rats in the poem—'From the
Pied Piper of Hamelin’. What do these words tell us about these rats?

c. Write down a few humorous expressions from the poem—'You are Old,
Father William’

d. Write down the names of the objects of nature that appear in the poem—
‘The Eagle’.

e. The poem—'Paper Boats’ tells us about sending messages by the little
child using paper boats. If you are asked to send a message to someone
you love, how would you send the message?

12. Answer any one of the given competency-based questions in 60 to
80 words. 1x 5= 5 Marks

a. How would you analyse Gulliver as a human being.

b. “"The streets are beautiful only when seen from behind the window panes
of one’s home.” Evaluate the given statement in reference to—'The Cat's
Paradise’.



5th Model Paper 2023

Subject: Mathematics Maximum Marks-50

Section-A (1 Mark Questions)
Q1. What is an angle?

a) A straight line.
b) A curved line.
c) A figure formed by two rays that share a common initial point.

d) A closed figure with three sides. (CL-1)

Q2 What is the sum of angles of the given triangle?

a) 90° A
b) 180° o
c) 2700
41°

Q3 Identify obtuse-angled triangle:

(CL-1)

a)

AN N

Q4 If a pizza has 12 slices and you ate %th of the pizza, how many slices

have you eaten? (CL-2)
a) 6 slices
b) 8 slices
c) 9 slices

d) 10 slices



Q5 Which of the following statements about triangular numbers is true?

(CL-3)
a) Triangular numbers are always odd.
b) Triangular numbers are always even.

c) Triangular numbers are formed by adding the previous two
numbers in the sequence.

d) Triangular numbers are formed by adding consecutive integers.

Q6 The perimeter of a square is 32cm. What is the area of the square?

Q7

a) 16 cm?

b) 64 cm? Eeqrizmetr:r

c) 128 cm? s

d) 256 cm? D C

Observe the given jug and bucket for their mentioned capacity.

How many jugs of water can fill the bucket completely?

Q8

(a) 18

(b) 15 9
(c) 12 E
d 6

Which one of the following is net of an open cuboid?

(a). (b). (c). (d).



Q9 As per the given Bar-chart, the number of students in class 8th is
less the total students in class 5th & 3rd by...

(a)
(b)
(<)
(d)

120

20

70

Q10 A car has 4 wheels and a
bicycle 2. What is the number of wheels in 5 bicycles and 3 cars?

40

30

20

10

Q11 Which one of the following is true?

(a)
(b)
(<)
(d)

%th of aday = 12 hours

6 hours = érd of aday

% of aday = 1 hour

16 hours = grd of day

8th 5th 3rd




Q12 If there are 23764 men and 23674 women in a locality. Then the

number of men is more than the number of women by;

a) 100
b) 90
c) 10090
d) 110

Q13 Given below are four groups of letters. Identify the group in which
each letter when turned % looks same.

(a) B, D, E, H M, X
(b) M, P o, Y, Z, N
(c) 1, X, H, Z, 0O, S

(d R VvV, H K O D

Section -B (2 Mark Questions)

Q14 A pole is painted red and white.
The red portion is 1.3 m long and
the white portion is three times as

long as the red portion.

How long is the pole?

(CL-1)

Q15 Write % as a decimal to the nearest hundredth. (CL-1)



Q16 "In the given figure, 30 boxes are colored red and 20 blue. What

fraction is the red boxes (CL-2)
RS 8 0 B
R 8 e
S
R R B R

Q17 If a fruit seller has 24 oranges and he wants to pack them into bags
of 4 oranges each, how many bags will he need?" (CL-2)

Q18 Read the following
graph and answer the
following questions, 8

Fruits

) Which is the most

popular fruit? 4
i)  Which is the least 2 .
popular fruit? (ClI-3) 0

Apples Bananas Oranges Grapes

Q19 A fruit vendor has 30 oranges. He sells % of them in the morning and

the rest in the evening. How many oranges did he sell in the morning
and how many did he sell in the evening? (CL-3)

Section-C (3 marks each)

Q20 Suppose a rectangular garden has a length of 8 units and a width of
4 units. If the owner doubles the length and breadth of the garden,
what will be the new area of the garden? (CL-3)

Q21 Draw; (CL-3)

i) Any acute angle
i) A right angle.



Q22 Draw a bar graph to represent the given data as follows: "The

Q23

Q24

Q25

Q26

number of books read by each student in class 5 during the last
month. Shade the bar representing the highest number of books
read by a student.

Student Number of books read
Adnan 8
Balbir 5
Ravi 12
Asmat 6
(CL-3)
Sara has saved up ¥5.50 to buy candy. If each candy costs %0.25,
how many candies can she buy with her money? (CL-2)
Add, 0.453, 4.53 and 453 (CL-3)

Section -D (5 Mark Questions)

Write the first five triangular numbers or square numbers and
represent any two using dots. (CL-1)

Or

Identify the Triangular numbers from the following numbers and
represent any two using dots;

4,3,6,10,12, 15
Draw the following angles; (CL-3)

i) 35 degrees
i) 125 degrees
Or

Draw the sketch of;

I) A cylinder
IT) A cuboid



Class: 5% Max. Marks: 50
Paper: Environmental Science Time Allowed: 2:30 Hrs

Summative Assessment

Section A

Multiple Choice Questions (13x1=13)

Choose the Correct option

Q1.

Q2.

Q3.

Q4.

When is World Health Day celebrated?
(A) 4th April
(B) 8th April
(C) 7th April (D) 6th April
Transmission of characters from parents to their offspring is known as...
(A) Heredity (B) Genes
(C) Traits (D) Habits
“Our country India is a vast country. It has many diversities. There is
diversity in dresses, languages, food habits etc.” Keeping in view
the above statement, say in which state Gandhi Cap is very famous:
(A) Gujrat (B) Goa
(C) Bihar (D) Rajasthan
‘Red Cross society’ is a voluntary organization which provides medical
aid at the:
(A) State level (B) District level
(C) National level (D) International level
Q5. What should you do when one of your classmates gets heat

stroke during morning assembly?

(A) Contact the doctor on telephone.

(B) Make the patient lie down in a shady place.
(C) Make crowd around the patient

(D) Cover the patient with any cloth.



Q6.

Q7.

Q8.

Q9.

Q10.

“People of all age groups cannot donate blood”. With reference to the
above statement who among the following can donate blood:

(A) Healthy persons (B) Children

(C) Old man (D) Old woman

First Aid Box contains:
(A) Bandage and Blanket
(B) Blanket and Antiseptic Solution
(C) Stethoscope and Bandage
(D) Bandage and Antiseptic Solution

Case study Based Questions (Q8-Q10

Sand stone is made from layers of sand in deserts or on sea beaches,
which have been naturally cemented together. Jaipur is termed as pink
city because many buildings in Jaipur are built of sand stones.
After understanding the paragraph answer the following:
Jaipur is known as.......

(A) Red city (B) Black city

(C) Pink city (D) White city
“Primary Health Centers (PHCs) have been opened in rural areas with
a population of about 30,000. In hilly, tribal or backward areas, PHC
has to be opened where the population is about 20,000.
Answer the following after reading the paragraph given above.
In backward areas PHC could be opened if the population is:

(A) 30,000 (B) 20,000

() 3000 (D) 2000

This story is almost a hundred years old. Seven year old Bhim went to
Goregaon in Maharashtra with his father to spend his holidays. He saw
a barber cutting the long hair of a rich farmer's buffalo. He thought of
his own long hair. He went to the barber and asked for a haircut. The
barber replied, “If I cut your hair both my razor and I will get dirty”.
Oh, so to cut human hair can be dirtier than cutting an animal's hair,
wondered Little Bhim.



Q. “If I cut your hair both my razor and I will get dirty”. This
statement signifies:

(A) Bhim belonged to upper caste.

(B) Bhim belonged to lower caste.

(C) Barber belonged to lower caste.

(D) Both Bhim and Barber belonged to upper caste.

Assertion and Reasoning Type Questions 11 -0Q13

Directions: In the following questions, a statement of Assertion (A) is
followed by a statement of Reason (R). Mark the correct choice as:

(A) Both assertion (A) and reason (R) are true and reason (R) is the correct
explanation of assertion (A).

(B) Both Assertion (A) and Reason (R) are true but reason (R) is not the
correct explanation of assertion (A).

(C) Assertion (A) is true but Reason (R) is false.

(D) Assertion (A) is false but Reason (R) is true.

Q11. Assertion (A): You can keep an ice or cold water pack on the burn.
Reason (R): Do not apply ghee, oil, etc. on the burn.
Q12. Assertion (A): Children can be protected against certain diseases like
whooping cough, diphtheria, measles etc. by vaccination.
Reason (R): Vaccination helps in developing resistance against
diseases.
Q13. Assertion (A): Days and nights are equal at the equator.
Reason (R): The sun rays fall directly on the equator throughout the

year.
Section B
Very Short Answer Type Questions (6x2=2)

Q14. Gandhi ji once said “Untouchability is a serious matter” Do you agree,
if yes, Write in a sentence how do people generally behave with
those people who clean toilets and drains.

Q15. Name any two jobs you would not choose to do?

Q16. Suggest any two ways to save forests?



Q17.

Q18.
Q109.

Q20.

Q21.

Q22.

Q23.

Q24.

Q25.

Q26.

If you are at home and earthquake occurs, write two steps to protect
yourself?

What is the utility of a mobile van?

What causes change in the seasons?

Section C
Short Answer Type Questions (5%x3=15)

“India is a vast country which has many diversities. Dresses and
cultures of different states are different”. Now based on your memory,
write the names of dresses worn by the people of following states:

a) Kashmir

b) Kerala

C) Orissa

“Acquired traits develop during life, whereas inherited traits are
received from parents at birth”. Apply your knowledge and classify the
below mentioned traits into acquired and inherited traits:

Knowledge, hair colour, weight, nose shape, face shape.

You have read the story of Danu’s village. Danu’s family and many
others go far away for work. Due to this Danu and other children had
to leave the village for six months and their education suffers. What
happens when you are not able to go to school for a long time.

‘Forest is everything for us. We can't live away from the forests even
for a day' Justify the statement.

Recall the chapter ‘Across the Wall'. What do you mean by the wall?
Write in your own words.

Section D
Long Answer Type Questions (2x5=10)
What is Air Pollution? Give the measures to control Air Pollution.
OR
Define Pressure. Describe an experiment to prove that air exerts
pressure.
Rocks are classified into Igneous, Sedimentary and Metamorphic

rocks. Based on your understanding give the comparative analysis of
Sedimentary and Metamorphic rocks.

OR
'Coal and petroleum are fossil fuels'. Justify the statement.
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Model test paper

Class-VI Subject -English
Time: 2:30 Hrs. M.M: 50
General Instructions

The paper is divided into 4 sections

SECTION A- Reading Section .......................... 15 marks
SECTION B- Grammar Section. ........................ 08 marks
SECTION C-Writing Section ...................ooeeea 12 marks
SECTION D- Literature ............ccooevviiieniinnann.n. 15 marks

All questions are compulsory.
SECTION-A (READING COMPREHENSION)

Q1.Read the following stanza and answer the questions that follow : (1*5 =05 marks )
How bright on the blue is a kite when it’s new !
With a dive and a dip it snaps its tail
Then soars like a ship with only a sail
As over tides of wind it rides,
Climbs to the crest of a gust and pulls,
Then seems to rest as wind falls.
(i) Choose the action word in the stanza.
a) Sail
b) Crest
c) Pulls
d) Ship
(ii))Write one word for —‘regular change in the level of the sea caused by the moon and the sun’ —
a) Ride
b) Crest
c) Tide
d) Sail
(iii)Find out and write simile used in this stanza
(iv) Tick the correct rhyming words in the stanza.
a) Sail-crest
b) Pulls-rides
c) Tides-rides
(v) What similar things do you notice between a kite and a ship ?

Q.2 Read the passage and answer the questions that follow : (5 marks)

Plastic scraps can be recycled and shaped into different objects. Though its recycling is not
simple, it is not impossible either. We can recycle plastic waste and make durable fencing and
thus save timber. However, plastic products, particularly plastic bags, are not good for health.
People throughout the world still use plastic bags which are dangerous for one’s health. There
is a campaign going on in the world today against the use of plastic bags. Experts recommend
the use of jute or cloth bags to avoid the dangers that plastic bags pose to human beings. A
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bigger danger is the careless dumping of plastics, especially polythene bags. Plastics do not
biodegrade in nature. If you bury a plastic bag in the ground, it can still be dug out intact after
500 years. Worse still, certain poisonous chemicals leak from plastic and get into water
making it unfit for use. Carelessly thrown plastics blow around in the surroundings, get into
soil, choke drains and waterways, and sometimes Kill animals that eat them by mistake. They
can also be collected and illegally sold back into the market, causing serious health risks

(i) State whether the following statements are true or false: (4*0.5 =2 marks)

a) Plastic scraps cannot be recycled. _Plastic bags are dangerous for one’s health.
b) Jute or cloth bags can be an option to avoid the dangers of plastic bags.

c) Plastic bags do not biodegrade in nature.

d) Carelessly thrown plastics can be a threat to animal life.

(if) Find synonyms of the following words from the passage: (4*0.5 =2 marks)
a) Strong
b) Risky
c) Block
d) Unlawfully
(fii)What are the ill effects of the carelessly thrown plastic ? (1 Mark)
Q3.Study the bar graph given below and answer the questions that follow : (5 marks )
Favourite colours of students
25
20
H green
15 M orange
10 M red
l mblue
5 [
0 T T T 1
green orange red blue

Q) Which is the most favourite colour among the students ?

a) Orange b) red c)blue d)green
(i)  Which is the least favourite colour among the students ?
a) Red b) blue c)green d) orange
(iii)  How many students chose blue as their favourite colour ?
a) 10 b) 5 c) 20 d) 25
(iv)  How many students chose green as their favourite colour ?
a) 5 b) 20 c) 10 d)25

(V) What is the total number of students ?



Section B (Grammar-08 marks)

Q4. (i) Fill the blanks with suitable words : (4 marks)
When he came (a) our house last night, he (b) very upset. We consoled
him (c) asked him what happened to (d)

(i) Edit the following passage. There is one error in each line. Write the incorrect word and
correction against the correct blank . (4 marks)

One morning ,the nawab called

His minister and say to him

That he want the length and

breadth from the earth measured?

SECTION -C (Writing skills-12 marks)

Q5. You are Renu Verma/Romit Kumar. You wish to invite your friend Meetu for Bhoomi Puja at
your new house. Write an invitation to her in about 50 words .

Q6. Read the following telephonic conversation between Seema and Nitin. Nitin is about to leave
home and will not be able to meet Rohan .She leaves a message for him .Write that message ,using
not more than 50 words.
Seema : Hello! Could I speak to Rohan ?
Nitin  : He is not at home .May | know who is speaking ?
Seema : 1 am Seema, his classmate .
Nitin  : Seema ,l am his elder brother .You can give message to me .
Seema :0k ,please tell him to bring my English notebook to school tomorrow as our English
teacher has asked to bring that for checking .
Nitin : Ok ,I will convey the message.
Seema : Thank you ,bye.
Q7. You live in a hostel .Write a letter to your father asking him to send you money to buy books
and pay fees for educational trip .You are Sonia/Samar .

Or
Write a letter to the Principal of your school requesting him to postpone half yearly examination as
the summer vacation in your school had been extended because of extreme hot weather and the
syllabus of all the subjects has not been completed yet .
Q8. Write a paragraph on ‘Joy of living in a village’ in about 80-120 words on the basis of following
hints :

Fresh air, no crowds, peaceful atmosphere, greenery, no traffic

Or

Write a paragraph on “your favourite game’ in about 80-120 words by using the following hints.

Name of favourite game, when you play it, what you like the most about the game, favourite player




SECTION-D (Literature-15 marks)

Q9. Answer any three questions briefly : (3*2 =6 marks)

() What was Algu’s verdict as head Panch? How did Jumman take it ?

(i)  In the lesson ‘A Game of Chance’, in what way did the shopkeeper make a fool of
Rashid?

(iif)  What capabilities must an astronaut have according to the journalist? (An Indian-
American Woman in Space: Kalpana  Chawla)

(iv)  How does hump of the camels help them to survive when there is no water?

(v) “It was to be a battle of champians”. What qualities did the two champion’s, mongoose
and cobra have? (The Banyan Tree)

Q10. Answer any two questions briefly: (2*2=4 marks )

() Why do you think he/she has worries? Can you think of ways to get rid of such worries ?
(What if)

(i) Who are the people the speaker meets? What are they doing? (Vocation)

(iii)  Give one example each of visual imagery and sound imagery from the poem Spring.

(iv)  Who is the speaker in the poem ‘Where Do All the Teachers Go’? What does he imagine
about what teachers do at home?

Q11. Answer any one question in about 80 -120 words. (5 marks)

Q) Describe briefly an improbable dream you ever had. (The Wonder Called sleep)

(i) If you were baby crocodile, would you tell Makara that he was wrong? What would you
say to convince him? (What happened to the Reptiles)

(iii)  Was it really a ghost who Vijay Singh befooled? Who do you think he was?

(A Strange Wrestling Match)



Class: VI Max. Marks: 50
Paper: Science Time Allowed: 3Hrs
Model Test Paper
Section A
Multiple Choice Questions (12x1=12)
Choose the Correct option: (Q1-Q4)

Q1. A substance which is essential for maintaining life and growth is called:
(a) nutrient (b) starch (c) scurvy (d) vitamin

Q2. Spinning can be done manually by:
(a) charkhaz (b) handloom (c) gin (d) none of these

Q3. Which is a biotic component of environment?
(a) Plants (b)Animals (c) Microorganisms (d) All of these

Q4. Deficiency of Vit (B:1) leads to:

(i) Scurvy (i) Beri-Beri (iii) Anemia (iv)Rickets
Mark 'T" if the statement is true and "F" if it is false: (Q5-Q7)

Q5. All birds do not have feathers. (T/F)
Q6. Vermi composting is the use of earthworm to form compost from plastic waste. (T/F)
Q7. By eating rice alone, we can fulfill nutritional requirement of our body. (T/F)

Fill in the blanks: (Q8-Q10)

Q8. Redworms do not survive in very -------- and very --------- surroundings.
Q9. Salt is obtained from seawater by a process known as
Q10. The phenomenon by which we see our face in mirror is called

Assertion and Reasoning Type Questions (Q11-Q12).

Directions: In the following questions, a statement of Assertion (A) is followed by a statement of
Reason (R). Mark the correct choice as:

A. Assertion and Reason both are correct and Reason is the correct explanation of Assertion.

B. Assertion and Reason both are correct and Reason is not the correct explanation of assertion.
C. Both are correct.

D. Assertion is correct but the Reason is not correct.

Q11. Assertion: evaporation can be used to separate a solid dissolved in a liquid.
Reason: Evaporation is the process in which liquid gets converted into it’s vapour.
Q12.Assertion: Role  of oceans in  supplying usable water is quite  important.

Reason: When the sea water reaches us, in various other forms of sources of water, it is no more
saline.



Section B

Very Short Answer Type Questions (Q13-Q19): (7x2=14)

Q13. Name the major nutrients in our food?

Q14. Name two items that are made from coconut fibre.

Q15. How would you obtain clear water from a sample of muddy water?

Q16. Explain the process of shadow formation.
Q17. Give two examples of periodic motion.
Q18. Define the terms: Rotatory motion and Oscillatory motion

Q19. Name two factors on which the strength of an electromagnet depends.

Section C

Short Answer Type Questions (Q20-Q22): (3x3=9)
Q20. What is the aim of Mid-Day Meal Programme?
Q21. What are the factors which affect the quality of the wool?
Q22. What is sieving? Where is it used?
Section D

Long Answer Type Questions (Q23-Q25): (3x5=15)

Q23. Explain why speed is important for survival in the grasslands for animals that live there. (Hint:
There are few trees or places for animals to hide in grasslands habitats.)
Or
How do plants differ from animals? Give important differences?
Q24. Discuss, is it possible to reduce the problems relating to disposal of garbage?
Or
Discuss, is garbage disposal the responsibility only of the government?

Q25. Explain that light has the property of rectilinear propagation.
Or
What type of motion do the following objects have?
(a) the galloping of a horse
(b) the needle of a sewing machine
(c) the movements of a mosquito
(d) the blades of an electric fan
(e) the smoke from a lighted agarbatti



MODEL PAPER

Class: - VI Subject: - Mathematics
Time: 2 hour 30 mins. Total Marks: 50

General instructions:
1) Section A comprises of 8 questions carrying 1 mark each.
2) Section B comprises of 6 questions carrying 2 marks each.
3) Section C comprises of 5 questions carrying 3 marks each.
4) Section D comprises of 3 questions carrying 5 marks each.

Section A (Very-Very Short Type Question)
Ql: - A proper fraction is always

a) Less than 1 b) Equal to 1 c) Greater than 1 d) None of these
Q2: - The number of lines of symmetry of a rectangle is 3 (T/F)

Q3. Which of the following is not a fraction equivalent of 2/3?

a) 4/5 b) 8/6 c) 10/25 d) 10/15
Q4: - The sum of the successor and the predecessor of 100 is .
(a) 198 (b) 199 (c) 200 (d) 201

Q5:-Ifx: 12 :: 12 : 18, then x is .
(a)6 (b) 8 (c) 10 (d)4
Q6:- In the given figure, ABCD is a square of side 6 cm and CDE is an equilateral triangle. The
perimeter of the figure is_................

E

A B
Q7: - Which of the following has no line of symmetry?

a) w (b i
(c) (% (d) @

Q8. Assertion (A) — Perimeter of a square = 4 x Length of a side

Reason (R) — Perimeter is the distance covered along the boundary forming a closed figure when you go
round the figure once.

a) Both A and R are true and R is the correct explanation of A

b) Both A and R are true but R is not the correct explanation of A
c) Ais true but R is false

d) Ais false but R is true




Section B (Very Short Type Question)

QO9:- A shopkeeper brought 12 dozen eggs out of which 2 dozen eggs are sold and 9 eggs are damaged.
After removing the damaged eggs, 8 eggs are replaced. Find the remaining number of eggs with the
shopkeeper finally.

Q10:- The cost of a pizza is 2% times the cost of a burger. If the sum of the costs of one burger and one

pizza is Rs105, then find the cost of the burger.

QI11:- If P is a 3-digit number and Q is the number formed by reversing the order digits of P, then find
the difference between the place value of the digits in the tenth place.

Q12:- The following table shows the number of toys sold by a mart during a week. Draw a line graph to
represent the given data

Week Mon Tue Wed Thu Fri Sat Sun
No. of 21 10 17 24 10 16 20
Toys

Q13:- Simplify: 128.364 + 10.08 — 132.16 + 9.8

Q14:- Consider the letters of the English alphabet, A to Z. List among them the letters which have
(a) Vertical lines of symmetry.
(b) Horizontal lines of symmetry

Section C (Short Type Question)
QI15:-If P, Q, R and S represents ‘x’, +, + and — respectively, then find the value of 60Q15P35S25R45.

Q16:- Samni went to a stationary shop to purchase few pencils, sharpeners and erasers for his art project.
He purchased two pencils of rupees 5 each, one sharpener of rupees 6 and two erasers of rupees 3 each.
He paid 50 rupees note to the shopkeeper and the shopkeeper refunded the balance amount to Samni

Based on the given information, Answer the following questions:-
a) Total amount to be paid (in rupees) by Samni is
b) Amount to be returned (in rupees) to Samni by the shopkeeper is
c) The cost of two pencils is .................. than sum of cost of a sharpener and an eraser.



Q17:- Joshna and Vijay have some chocolates. The number of chocolates with Joshna is two-third of the
number of chocolates with Vijay. If Vijay gives five chocolates to Joshna, then both will have equal

number of chocolates. How many chocolates does Joshna have?
ol L% w2 21,3 5,29 .2
Q18:- Simplify: S T3 X5 Fot 2+3- X2 3
Q19. On a squared paper, sketch the following:
(a) A triangle with a horizontal line of symmetry but no vertical line of symmetry.
(b) A quadrilateral with both horizontal and vertical lines of symmetry.

(c) A quadrilateral with a horizontal line of symmetry but no vertical line of symmetry.

Section D (Long Answer Type Question)

Q20:- Given below is a bar graph representing the percentage of marks obtained by five students in a
Term test studying in Govt High School Poonch for the session 2022-23 under the supervision of
Principal Yougal Kishore.

% of MARKS
120
100
80
60
B % of MARKS
40
20
0 T T T
Mohit Harish Aryan Hardev Garish

Answer the following questions based on the graph.
i.  What is the average percentage of marks obtained by the 5 pupils in the test?

ii. Name the pupil whose marks are 3/4 of Harish’s Marks?

iii. Who got higher marks amongst the two students whose names rhyme?

iv. Ifthe test was for a total of 500 marks in Govt. High School Poonch, then what is the sum of marks

obtained by Hardev?
v. What is the difference in the marks Obtained by Hardev and Mohit?
Q21. A rectangular piece of land measures 0.7 km by 0.5 km. Each side is to be fenced with 4 rows of

wires. What is the length of the wire needed? If the cost of wire is T 1050 per Km, Find the total
Expenditure on purchasing of wire?

Q22:- A student Gaurav of weight 50 kg secured 150 marks. Another student Saurav of weight 40 kg
also wrote the same exam. If their weights were in proportion to their marks, how much did Saurav
score the exam.



HFTH YRl 9
fR=dr
HET: TS fawar: fR=dr
3f¥ehcH 37 @ 50 Jaf 2 9¢

AT fAger-

1.39 9T 99 & IR @US §; &, T, T 3R«
2§ weedt & IR & HfAAH F

3. 91 R FHY AT W Ay eae Qfav)

U3 (F):9fSad qUT 39S TG (10)
v.1 (%): Aefaf@a safsa e # camqEs seat fRe aw weat & 3w ffSw) (1x5=5)

T AR o S & gl AT 'Sl HY AT 3T Y, AT " A 3" F ik qAT fmdr hr gdiem
&Y ATl ST ST 37T T HH dI & AT T &l §, 98 i F IS & E e B
JefUATE cafed THT 1 Hed STed g1 9 39§ R T W A & AR Thorar Hr dfear
Ted g1 e AR HY Tidd Sl S GllaT Fd B 8, T 3Tl el 3l S8 AT FA
AS # dg W T e, AT &, T e wapet 39 & g1y ¥ frwerch Teh A &1 @Ay f
URATE o el drell faeardt € g A godid g1 3d: THI HT FGUANT HEAT ART|

F) Hed HAR o FAT Hgl UT?

) AT fFE ghem Fear 8?2

M) H H GAIET FlT FIA &2

) WAY I WA ¥ aiS 916 H FIT FIS 87
%) UHI FHT FAT HT IIET ?

¥.2 farfaf@a afsa sreamr gwgar R aw yeat & 3@ ffaw (1x5=5)

§H 9 H T N dleholc Gleel T e A Faq AT A 91 & disholc HI & F&Toh @l
# arholc o T3 W3 F o WdT | cilea ASSEE W W &l 3R Td & T & 91 TR
ﬁﬁwmﬁ@r@ﬁrlﬁﬂm%waﬁa@mm%l Gee-HIS G TheH old, O
T[T T FHHAST ThY &1 Hg A Tlell R IHT| deaAe Toh AR IoTa Y sl 3T oA
ST & 3R Y et 3area He #|



F) AfTFr F gFd F F TR FA @l Hr ge 42
¥) Afgsr aiede & 3R FI @ o

) ARF F Rerar & 71 7ga a6 IS

) WedAe HA g 2

%) 9IS FT T FAT &7

(Are: ufsa ez 9rs-2, 4, 8, 10, 15 # & 31eH1)

gUs (F): SITHIT (10)
1 frar R g ¢ AT wfew wwend | (2)
3dr

aftr i gfsmwr et afka gw=T

2. Arfaf@a & e ey A (1)
COC It g. 9H

3. gaiaTH areg ford| (1)
oM G g. ga&

4. 3T[er Areal Y et F| (1)
®. WA g. NRRaK

5. frafaf@e el &1 w@fr # (1)
F. g + 3T T. gfd + g

6. ArAfaf@a & Ta a5 (1)
F. Aol g %]

7. fafaf@a et & rfafRe arw aee (3)

&. &id e AT . S gore . IR TG SR



gug (): ISIATETF (20)

7.1 fa&erear weal & 3R & (1x4=4)
1. g JEAP oo T welr g (R Tt a1d))
2. @rdt gry s T & HiT BT §?
3. e 3Head U6 & IUR W “STHUS” Use, Hl 37 T3
4. EAS & ANTAAE 3 F SHF I TER AER M Y, ---mmemommee MR| (T )
v.2 Prafaf@a qeat & ¥ Fedl e weat & 39 30-40 2rsal F fAf@v) (2 x3=6)

o AT AlgT & 0 U Fgel W FAT TaRT Wr Ar?

o Tl g1y o Ma fFy @ @aEfRT §?

o HYAT F FIY B BN I Fouar AT & T {?

o AR &l HgA Sellel H PR, 0T IFR @A F a1 e g?
o W & i FI AR 3T et & AH fored?

v.3 rafaf@a weat & 3a% 100-150 ersef & & (2 x5= 10)

(F) dig & A & I
31erar
el 5T FRIAT & W |

@ ): ‘ﬁéﬂ’aﬁmﬂaﬁﬁm%aﬁa?ﬁ?ﬁaﬁrﬂ?%‘,ﬁqﬁ%wwmaﬁﬁ
H|
37ar

FATYTT AT ST &l MYR W dledT ST & Siided ddT TadT HIAH H 3oAdh A9GH IR

= AL
@vus (°): (10)
et v v 9T 100-150 ereal 7 fawer foe (6)
. TS ARG A
g, 0T fGag|
1. Tt Siaet & epemes|
g, 39 ReIeT & guemEary B 6| AT F v gefer o o f[afaw (4)

3rar

aﬁ%aﬁaﬁm*a@wwmaﬂg&rwﬁﬁm



MODEL PAPER

Subject: Social Science Class: VI
Time: 2 hour 30 mins. Total Marks: 50

General instructions:
1) Section A comprises of 5 questions carrying 18 marks from History.
2) Section B comprises of 5 questions carrying 16 marks from Geography.
3) Section C comprises of 6 questions carrying 16 marks from Political Science

Section A
(Very-very Short Answer Questions)

Q1:-Do as directed:
(1) Many cities in Mahajanapadas were fortified.(T/F)
(if) The Tax in Mahajanapadas was fixed at ------ of the produce.
(iii) Assertion-Reasoning Question
A. Pepper was particularly valued in the Roman Empire.
B. It was so valued that it was known as Black Gold.

a) Both A& B are true
b) Both A & B are false
c) Ais true & B is false
d) Ais false & B is true
(1Y) [ was the most famous Kushana ruler about 1900 years ago.
(a) Kujula Kadphises
(b) Vima Kadphises
(c) Kanishka
(d) Vasudeva
(v) Which among the following rulers were known as the Lords of dakshinapatha
(a) Satavahanas
(b) Kushanas
(c) Cholas
(d) Cheras

Very-Short Answer Questions: (2*1=2)
Q2. What are Megaliths?
Short Answer Questions: (3*2=6)

Q3. What kind of evidence from burials do archaeologists use to find out whether there were
social differences amongst those who were buried?
Q4. What were the new administrative arrangements during the Post Mauryan period?

Long Answer Questions (5*1=5)
Q5. What were the problems that Ashoka wanted to solve by introducing Dhamma?



Or
On an outline map of India locate Following Five important sites of Mauryan Empire: -
a) Taxila
b) Ujjain
c) Pataliputra
d) Kalinga
e) Lumbini

Section B

Very-very Short Answer Questions: (1*4=4)

Q1.(i) The Deccan Plateau is located in .
a) Kenya b) Australia ¢ ) India
(i) Assertion-Reasoning Question.
A: The Vindhyas and the Satpuras are the important ranges.
B:The rivers Narmada and Tapi flow through these ranges.
(a) Both A and B are true.
(b) Both A and B are false
(c) Ais false B is true
(d) Ais true and B is false
(iii) Wild goats and snow leopards are found in
(a) Himalayan region (b) Peninsular region (c) Gir forests

(iv) During the South-west monsoon period, the moisture laden winds blow from sea to land.
(T/IF)
Very-Short Answer Questions: (2*2=4)
Q2. Name the different seasons in India?
Q3. Name any two Indian Peninsula?

Short Answer Questions: (3*1=3)

Q4. Differentiate between a Mountain and a plateau.



Long Answer Questions: (5*1=5)

Q5. Explain the three heat zones of the earth?

Or

S
9
4 Meridian 82.5'E

!

.
‘S_la_n_dg}____n lan 82.

"823.5N Tropictaf{Cancer

" R

Locate the five states from which the Indian Standard Meridian Passes.

Section C

Very-very Short Answer Questions: (1*4=4)

Q1. (i) Identify the picture given below:

a. Gram Panchayat

b. Municipal Corporation
c. District Court

d. School

(ii) Panchayati Raj Model in J&K is based on

(a) Three tier
(b) Two tier
(c) Four tier
(d) Five tier

system.



(iii) Assertion-reasoning Question
A: Women have been benefitted through the Hindu Succession Amendment Act 2005.
B: This law enables women in terms of inheritance of paternal property.
(a) Both A and B are true.
(b) Both A and B are false
(c) Ais false B is true
(d) Ais true and B is false
(iv) The kabadiwallah picks the household plastics and paper including your notebooks for :
(a) recycling
(b) to burn
(c) to play
(d) for nothing

Very Short Answer Questions: (2*3=6)
Q2. If you have some dispute in the classroom you go to your teacher. Where will you go if
any serious dispute occurs in your neighbourhood?
Q3. Municipal Corporation provides so many services to the cities. List any two ways in
which the work of the Municipal Corporation affects the life of a city dweller.
Q4. What is the work of a Tehsildar?

Short Answer Questions: (3*2=6)
Q5. What is the difference between Gram Sabha and Gram Panchayat.
Q6. Write three advantages of Panchayati Raj Institutions.
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Model Paper
Subject:- Kashmiri Class:-6" Summative Assessment
Max. Marks-50 Time 2 , Hours
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Model test paper

Class-VII Subject -English
Time: 2:30 Hrs. M.M: 50 Marks
General Instructions

The paper is divided into 4 sections

SECTION A- Reading Section ...............cevveenn. 15 marks
SECTION B- Grammar Section. ........................ 08 marks
SECTION C-Writing Section ...............ccoevvnnennn. 12 marks
SECTION D- Literature .........c.covvveiiinniannnnn.. 15 marks

All questions are compulsory.

Section- A(Reading-15marks)

Reading Comprehension
Q1 Read the following Stanza and answer the questions that follow: 05 Marks

There’s a shed at the bottom of our garden
With a spider’s web hanging across the door,
The hinges are rusty and creak in the wind.
When I’m in bed I lie and I listen,

I’1l open that door one day.

(1) Who is the speaker in the poem?
a) The poet
b) Poet’s brother
c) Ghost
(ii) Where is the shed located?
a) At the entry of the garden
b) At the end of the garden
c) Inthe centre of the garden
(iif) What is hanging across the door?
a) Wind chime
b) Spider’s web
c) climbers
(iv) When do the joints of the door produce a  creaking sound?
(v) Rusty means....... 1x5=5

Q2. Read the following passage and answer the questions which follow: 05 Marks

‘Health is wealth’ is a well known saying. Without good health, life is a burden. When we fall ill, we
are unhappy. We cannot work or play. Germs cause illness. These are very small living things. They
live on dirt and grow in darkness. They get into our body by air, water, food or cuts in the skin and
make us ill. Dirt and darkness are the enemies of good health. They breed germs. Sunlight and
cleanliness destroy them. So we must keep our body clean and do exercise daily to keep ourselves
healthy. Bad habits like not taking bath daily and not maintaining hygiene must be avoided.



1) Germs grow in

a) Light
b) Darkness
c) Dirt

i) How do germs enter our body?

iii) What should we do to keep good health?
iv) Give a suitable title to the passage

v) Find the opposite of:

(a) Friends

(b) Clean.

Q3:-Study the bar graph given below and answer the questions that follow

Q4 A.

-

Students

FPets owned by students
of class seven

Rabbits .

Dogs
Cats
Hamsters

Pet Animals

Which is the least popular pet among the students?
a) Dog b) Cat

. Which is the most popular pet?

a) Dog b) Cat

iii. How many students have hamster as a pet?

a) 2 b) 4

. How many students have dog as a pet?

a) 2 b) 8
How many students own pets?

Section-B (Grammar-08 marks)

Others .

c) Rabbit
c) Hamster
c)6

c)6

Fill-in the blanks with appropriate parts of speech/ modals/ articles etc.

Raj went to marketto 1

notebooks but 2 stationery shop was not open.
He 3 not buy notebooks.

While coming back _(_4)_ bought

apples_(5)___ the fruit shop.

05 Marks

2.5 Marks



B. Read the following conversation and complete the passage
Mother : Why are you late from school, Anu ?
Anu :  While coming from school to bus stop, slipped by stepping on a banana peel.
Mother : O, my dear! Did you hurt yourself ?
Anu: Don’t worry please, I am ok.
Mother: Be careful while walking on the road.
Mother asked Anu (1).............ceeeeenn. Anu replied that while coming from school to bus
StOP (2)eevveniiiiiinnns peel. Mother was shocked to hear this. She further asked (3).................. .
Anu requested her (4) ............ . Mother advised her (5) ............ the road. 2.5 Marks

B. Edit the following passage. There is one error in each line. Write the incorrect word and the
correction against the correct blank
1. Simmi did not wanted to write the article(1).....
2. She has been working in the office for two year’s (2).....
3. Now Sanju has wrote that article (3)..... 03 Marks

SECTION -C (Writing skills-12marks)

Q5 You are the Secretary of your colony and you are planning to plant trees in your colony , design a
poster to inform the residents of your colony for the Plantation Drive.

OR

Your school, Government High school ABC is going to organise a book exhibition Design a Poster to
inform the students about various activities connected with it. Ask them to Participate in the
exhibition. You are Rajan/Ria.

03 Marks

Q6. You are Rima. Your brother had recently gone for a health checkup. You received a call from the
doctor regarding the result of his reports. Since you have to go out, you leave a message for him. Draft
a message regarding the same in not more than 50 words.

OR
Write an email to your sister congratulating her on winning a debate competition. 02 Marks
Q7 Write a letter to your brother advising him against the excessive use of mobile phone

OR
Write a letter to the Principal of your school requesting him to organise an inter school sports meet.

03 Marks

Q8 Write a paragraph in about 80-120 words on ‘A Picnic’ using the words given below:
Sunday, weather, picnic, river, meadows, birds, lunch monkeys, rest, tea, snacks, songs, enjoyed.

OR
Write a paragraph in 80-120 words on
‘My school library' using the words given below:
Knowledge, Wisdom, pleasure, Books, magazines, newspapers, pictures on the walls, Cupboards,
silence, reading area. 04 Marks



SECTION-D (Literature-15 marks)

Q9. Answer any three questions briefly.

(i) What did Nishad give Mr Nath? Why?

(i) How does the Roald Dahl story to infuse the creativity increase the power of imagination in the
children?

(iii) Why gaps are left between buildings during construction?

(iv) How did the author’s friend try building the bicycle?

(v) C.K Nayudu is the name recorded in the history of cricket. What are the reasons that make him
a legend?
3x2=6

Q10. Answer any two questions briefly.

() The fan was chattering a lot. Who could understand the need of the fan? (Mystery of the talking
fan)

(i) Describe the tone in which the narrator’s father dismissed his wife’s warnings every single time.
(Dad and the Cat and the tree)

(iii) Describe the various sights that one comes across meadows. (Meadow Surprises)

(iv) How did the pandemic affect your life? Explain.(The Pandemic)

2x2=04
Q11. Answer any one question briefly.

(1) Why was it so challenging for Tilloo to remain alive on the planet’s surface?

(ii) Love begets love’. How far this phrase applies to the story ‘A Tiger in the house'?

(iii) The second bear did not attack the lady because he was afraid of her.Do you agree? Give
reasons. 05 Marks



Class: V' Max. Marks: 50
Paper: Science Time Allowed: 3Hrs
Model Test Paper
Section A
Multiple Choice Questions (10x1=10)
Choose the Correct option: (Q1-Q3)

Q1. The plant which traps and feeds on insects is:

() Cuscuta (ii) Chinarose (iii) Pitcher plant (iv) Rose

Q2. Which part of the plant takes in carbon dioxide from the air for photosynthesis?
(1) Root hair (ii) Stomata (iii) Leaf veins (iv) Sepals

Q3. Name the acid which is present in the sting of ants
(a) Acetic acid (b) Formic acid (c) Oxalic acid (d) Tartaric acid

Mark 'T" if the statement is true and "F" if it is false: (Q4-Q5)

Q4. During heavy exercise the breathing rate of a person slows down. (T/F)
Q5. Plants carry out photosynthesis only during the day and respiration only at night. (T/F)

Fill in the blanks: (Q6-Q8)

Q6. The stomach releases hydrochloric acid and juice which act on food.
Q7. Image formed by a convex is always virtual and smaller in size.
Q8. The acid found in lemons is acid.

Assertion and Reasoning Type Questions (Q9-Q10).

Directions: In the following questions, a statement of Assertion (A) is followed by a statement of
Reason (R). Mark the correct choice as:

A. Assertion and Reason both are correct and Reason is the correct explanation of Assertion.

B. Assertion and Reason both are correct and Reason is not the correct explanation of assertion.
C. Both are correct.

D. Assertion is correct but the Reason is not correct.

Q9. Assertion (A): Vascular tissue, conducts water and minerals from the soil to the top of the plant.
Reason(R): Xylem vessels are responsible for the conduction of water.

Q10. Assertion (A): Sugar is a neutral substance.
Reason (R): A sugar solution turns red litmus blue.



Section B

Very Short Answer Type Questions (Q11-Q18): (8x2=16)

Q11.Why do organisms need to take food?

Q12. Name the elements that determine the weather of a place.

Q13.When are the maximum and minimum temperatures likely to occur during the day?
Q14. Name two chemicals used to disinfect water.

Q15. Mention two characteristic features of wind Pollinated flowers.

Q16. What is an electric fuse?

Q17. Name two factors on which the strength of an electromagnet depends.

Q18. Define acid and bases.
Section C

Short Answer Type Questions (Q19-Q21): (3x3=9)
Q19. List the similarities and differences between aerobic and anaerobic respiration.
Q20. Explain the relationship between sanitation and disease.

Q21. Draw the diagram of human excretory System and label its various parts.

Section D
Long Answer Type Questions (Q2-Q24): (3x5=15)
Q22. Describe the digestive system of ruminants with the help of a suitable example.
Name the type of carbohydrates that can becc)jzgested by ruminants but not by humans. Give the

reason also.

Q23. Describe the functions of the following: (i) Heart (ii) Blood vessels (iii) Red blood cells (iv) White
blood cells (v) Platelets
Or
Describe, in brief, the circulatory system in human beings

Q24. Differentiate between Concave and Convex Lenses.
Or
List a Few Uses of Spherical Mirrors



MODEL TEST PAPER

Class: - VII Subject: - Mathematics
Time: 2 hour 30 mins. Total Marks: 50
General instructions

1) Section A comprises of 8 questions carrying 1 mark each.

2) Section B comprises of 6 questions carrying 2 marks each.

3) Section C comprises of 5 questions carrying 3 marks each.

4) Section D comprises of 3 questions carrying 5 marks each

Section A (Very very Short Type Question)

Q1:- There are number of rational numbers between two rational numbers.
a) Unlimited b) Limited
Q2:- Which congruence criterion do you use in the following?

Q3. Name the solid, who’s net is shown below:

A. Cone B. Cylinder C. Sphere D. Rectangle
Q4. English alphabet "Z" has rotational symmetry of order .
A 2 B.1 C.4 D.3
Q5. Rhombus has a perimeter of 44 cm, then what will be the length of its side?
A.7cm B.4cm C.11cm D.1l4cm

Q6. In the given figure, perimeter of (ii) is greater than that of (i), but its area is smaller than that of (i).
(True/False)

(1} (i)



Q7. Which of the following has no line of symmetry?

(a) k _ﬂ (b)

(] (d)
S

Q8:- Assertion: The sum of the measures of two supplementary angles is 180° .

Reason: When the sum of the measures of two angles is 180°, the angles are called
supplementary angles.

a.) Both Assertion and Reason are correct and Reason is the correct explanation for Assertion

b.) Both Assertion and Reason are correct and Reason is not the correct explanation for Assertion.
c.) assertion is true but the reason is false.

d.) both assertion and reason are false.

Ans:- (D)

Section B (VVery Short Type Question)

Q9:- Find the values of the angles x and y in the following figure.

Q10:- In a computer lab, there are 5 computers for every 10 students . How many computers will be
needed for 24 students.

Q11:- In the following figure, show that APSQ = APSR.




Q12. If LAOD is 180°, then find the values of 'X'.

B

A D

Q13:- In the given figure, a circle is inscribed in a square ABCD of side 28 cm. Find the area of the

shaded region
7
W

B c
(a) 168 cm? (b) 184 cm? (c) 216 cm? (d) 236 cm?
Q14:- If the measures of angles of a triangle are in the ratio 2:3:4, then what is the measure of the
greatest angle?
a) 76° (b) 84° (c)72° (d) 80°

D

Section C (Short Type Question)

Q15:- During an educational excursion, the Math teacher observed triangles in a bridge over a river
and shown to students.

To emphasis the co-relatedness of math in dIIife hejust draw its siblified figure (side
view) as shown here with following description:
AD=AE=BE=BF=CF=CG=10 m. and 2A=2B=2C=90°.

A B c
m p 10m 10m 10m
D M E F G

(i) Count the no. of isosceles triangles in figure.
(i) Value of D is
a) 60° (b) 45° (c) 30° (d) 90°




(iii) A student Raman said that AADE, ABEF &ACFG are congruent. Whether his statement is
true?.
Q16:- The sum of two rational number is —4. if one of them is %12, find the other.

Q17:- The figure represents a square piece of land with a circular grass bed in the middle. Find
15m

I.  The area of the whole land
ii.  The area of the grass bed
iii.  The length of the wire needed to fence the grass bed.

Q18:-. A small Equilateral triangle is located inside a bigger Equilateral triangle as shown in the
figure below. The length of one side of the small Equilateral triangle is 3 cm and the length of one
side of the big Equilateral triangle is 7 cm. What is the area of the shaded region?

Q19:-Meeta saves X 4000 from her salary. If this is 10% of her salary. What is her salary? Or

Section D (Long Answer Type Question)

Q20:-In the Fig., ABCD is a parallelogram, DL L AB. If AB =20 cm, AD =13 cm and area of the
parallelogram is 100 cm?, find AL.




OR

From a circular card sheet of radius 14cm , two circles of radius 3.5cm and a rectangle of length
3cm and breadth 1cm are removed (as shown in the fig. ). Find the area of the remaining sheet.

Q21. Draw a triangle PQR, where PQ =5.7 cm, 2P = 45° and 2Q = 30°.
(or)
Draw a right-angled triangle in which hypotenuse is of length 5 cm and one side of length 3 cm.
Also measure the length of third side.

Q22. From the fig. given below, answer the following:

H G

D C
A B

i. Which edge is the intersection of faces EFGH and EFBA?

ii. Which faces intersect at edge FB?

iii. Give all the edges that are perpendicular to edge AB.
iv. Give four vertices that do not all lie in one plane.
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MODEL PAPER

Subject: Social Science Class: Vi
Time: 2 hour 30 mins. Total Marks: 50

General instructions:

Section A comprises of 5 questions carrying 18 marks from History.

Section B comprises of 5 questions carrying 16 marks from Geography.
Section C comprises of 6 questions carrying 16 marks from Political Science

Section A
Very-very Short Answer Questions(1*5=5)
Q1: Do as directed

A. Abul Fazl was the court historian of Akbar. The name of his work is Akbarnama. (T/F)
B . Jalaluddin Rumi was a great thirteenth century sufi poet from Iran who wrote in ..........

a) Persian

b) Arabic

c) Sanskrit

d) Urdu

C. Asaf Jah founded the Hyderabad state in
a) 1720
b) 1722
c) 1724
d) 1748

D. Assertion-Reasoning Question
I: Ladakh is known all over the world as the ‘Ancient Land of Buddhist Lamas’.
I1: It is believed that Buddhism was introduced in Kashmir by the Mauryan ruler, Ashoka (262-232 BCE).
a) Both A and B are true
b) Both A and B are false
c) Alis true and B is false
d) Ais false and A is true

E. In 1679, Ladakh was attacked by Tibet. (T/F).

Very Short Answer Type Questions (2*1=2)
Q2: Between 1720-1761, the Maratha Empire expanded .Why did the Maratha want to expand beyond
the Deccan?

Short Answer Type Questions (3*2=6)
Q 3: What are the elements of a Mughal “Chahar Bagh” garden?
Q 4: Sufism laid the formation of communal harmony and peace in Kashmir. Sum up the role of Sufis
and Rishis in promoting social harmony in Kashmir.



Long Answer Type Questions(5*1=5)
Q 5. a) What was the role of the Zamindar in Mughal administration? (3 marks)
b) What were offices held by Saadat Khan? (2 marks)
or
On an outline map of India, locate the following sites
Siri, Jasrota, Kishtwar, Trnasoxiana, and Tuglugabad

P i ¥

INDIA

Section B

Very-very Short Answer Questions(1*4=4)
Q1.(i) Assertion-Reasoning Question.
A: The earth movements are divided on the basis of the forces which cause them.
B: Endogenic and Exogenic forces produces earth movements.
a) Both A and B are true.
(b) Both A and B are false
(c) Ais false B is true
(d) Ais true and B is false
(i) Assertion-Reasoning Question.
A: Kashmir is blessed with diverse flora and fauna.
B: Deodar is a prized timber in Kashmir.
(a) Both A and B are true.
(b) Both A and B are false
(c) Ais false B is true
(d) Ais true and B is false

(iii)Identify the famous monastery in Ladakh.




Very-Short Answer Questions: (2*2=4)
Q2: Why some rocks have a shape of a mushroom. Give reasons
Q3: The cultural landscape of the Sahara is undergoing change. Explain

Short Answer Questions: (3*1=3)
Q4. Why the quality of water is deterioting? Give atleast three reasons.

Long Answer Questions: (5*1=5)
Q5. On an outline map of the Indian Sub-continent, draw the rivers Ganga and Brahmaputra from the
source to the mouth. Also show the three important tributaries of river Ganga.
Or
Q The rainforests are depleting. Support your answer with suitable examples

Section: C

Very very short Answer Question  (1*4=4)
Q1. (i) The Civil right Act of 1964 prohibited discrimination on the baasis of
a) Race, Religion and national Origin
b) Gender
c) Economy
d) Education

(ii) On the Political Map of India given below outline the State /UT that you live in.
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(iii) Assertion — Reasoning Question

A. Costa Rica is considered to be one of the healthiest countries in Central America.

B. Costa Rican government spent money on health , education and other basic needs of people
and not on Army.

(a) Both A and B are true.

(b) Both A and B are false

(c) Ais false B is true

(d) Ais true and B is false



(iv) Identify the Picture.

a) Founder of Brahmo samaj
b) Founder of Azad Hing Fauj
c) Chairman of drafting committee of constitution
d) Leader of Chipko movement
Very Short Answer Question ( 2*3=6)
Q2. What do you know about Social Advertising?
Q3. SSA,RMSA& Teacher Education have been merged into one scheme named SAMAGRA. What
is its objective?
Q4. What do you know about Universal Adult Franchise?
Short Answer Questions: (3*2=6)
Q5. What do you know about the mid-day meal programme? How do you think this programme
might help promote greater equality?
Q6. Write any three differences you find between Private and Public Health Services in your area.
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	Q19:-Meeta saves ₹ 4000 from her salary. If this is 10% of her salary. What is her salary? Or

